L

fo9 yuzed Jal5' b 4 15°C (slos ;0 12000 b el p3¥ Lo )5 s 4z

L, =2454KJ | kg
m =200g
Q=7

O =mL, =(200x107)(2454x10%)
= 490800/
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v =2Lit
L, =2256KJ | kg
0 =2
P =15KW
(=9

m m
—— =10 =
P V 2%x107°

QO =mlL, =(2)(2256x10°) =4512x10°J

= m =2kg
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(c=4200 kg k , Ly=2256 KJ/kg , L=336 KJ/kg)

0, =mL, =(1x107)(336x10%) = 336J
0, =me A8 =(1x107)(4200)(100) = 420
0, =mL, =(1x107)(2256x10%) = 2256

Q, =0, +0,+0, =336+420+2256 =3012J




( ~1¢c=4200 J/kg.k, = €=2100 J/kg.k , Lf:336 KJ/kg)

O, =mcAO=(500x107)(2100)(0— (-5)) = 5250/
0, =mL, =(500x107)(336x10") =168000J
O, =mcAB=(500x107)(4200)(5-0) =10500]

0, =0,+0,+0, =5250+168000+10500 =183750/




100°C o1 5o 4 -20°C slos b o SolS L o axksd o5 b ol o3 Loy i = oy

Fogd roud

(-1¢c=4200J/kg.k, x €c=2100J/kg.k , L~=336 KJ/kg , L,=2256 KJ/kg )




